ON THE LOCAL DISTRIBUTION OF THE ITERATED DIVISOR FUNCTION

I. **Kátai**⁽¹⁾⁽²⁾

Eötvös Loránd University, Computer Algebra Department and Applied Number Theory Research Group of Hungarian Academy of Sciences, H-1117 Budapest, Pázmány Péter sétány 1/C, Hungary

M. V. Subbarao⁽²⁾

University of Alberta, Edmonton, Alberta, Canada T6G 2G1

Received: February 2004

MSC 2000: 11 N 25, 11 N 60

Keywords: Divisor function, distribution function.

Abstract: Let $d_2(n) = d(d(n))$, where d(n) is the number of divisors of n. The asymptotic of $\# \{n \le x \mid d_2(n) = k\}$ is investigated.

1. Introduction

Notation. Let d(n) be the number of divisors of n, $d_2(n) = d(d(n))$, and in general, $d_{r+1}(n) = d_r(d(n))$, that is $d_r(n)$ is the r'th iterate of d(n). Let \mathcal{P} be the set of primes. Let $\omega(n)$, $\Omega(n)$ be the number of prime divisors and the number of prime power divisors of n. The Liouville function $\lambda(n)$ is defined by $\lambda(n) = (-1)^{\Omega(n)}$. For the sake of simplicity we shall write $x_1 = \log x$, $x_2 = \log x_1$, $x_{r+1} = \log x_r$ ($r = \log x_1$).

E-mail addresses: katai@compalg.inf.elte.hu, m.v.subbarao@ualberta.ca

⁽¹⁾ Financially supported by the fund of Applied Number Theory Group of HAS.

⁽²⁾ Financially supported by an NSERC Grant.

= 2,3,...). \mathbb{N} = set of nonnegative integers. The letters ε , ε_1 , ε_2 , δ , δ_1 denote small positive constants.

Let

(1.1)
$$\rho_k(x) = \frac{1}{x_1} \frac{x_2^{k-1}}{(k-1)!}.$$

It is clear that

(1.2)
$$\sum_{k=1}^{\infty} \rho_k(x) = 1.$$

R. Bellman formulated the conjecture, namely that

(1.3)
$$\sum_{n \le x} d_r(n) = (1 + o(1))xx_r \quad (x \to \infty)$$

holds for every r = 1, 2, ... This is proved for $r \le 4$. See [1], [3], [4], [6], [7], [11].

In [5] the limit distribution of $d_2(n)$ has been investigated. Our purpose in this short paper is to give the local distribution of $d_2(n)$, i.e. the asymptotic of

K. Ramachandra [10] proved asymptotic for sums $\sum_{x \leq n \leq x+h} f(n)$, where f is a multiplicative function, the generating Dirichlet series $\sum \frac{f(n)}{n^s}$ of which can be expressed by the product of complex powers of L-functions, and $h = x^{7/12+\varepsilon}$, $\varepsilon > 0$. He applied the so called Hooley–Huxley contour in the proof. By using this technique, in [8] it was proved that

$$\sum_{\substack{\omega(n)=k\\x\leq n\leq x+h}} 1 = (1+o(1))h\rho_k(x),$$

uniformly as $1 \le k \le x_2 + c_x \sqrt{x_2}$, $c_x \to \infty$ sufficiently slowly, and $x^{7/12+\varepsilon} < h \le x$.

In [9] the following theorem is proved.

Theorem A. Let $z \in \mathbb{C}$, $|z| \leq c_1$, c_1 be a constant,

(1.5)
$$U(z|x,h) := \sum_{x \le m \le x+h} z^{\omega(m)} |\mu(m)|,$$

(1.6)
$$\prod_{l} ([x, x+h]) := \sum_{\substack{x \le n \le x+h \\ \omega(m)=l}} |\mu(n)|,$$

(1.7)
$$\psi(x) = \frac{1}{\Gamma(z)} \prod_{p} \left(1 - \frac{1}{p} \right)^{z} \left(1 + \frac{z}{p} \right).$$

Assume that $x^{7/12+\varepsilon} \le h \le x^{0.66}$. Then

(1.8)
$$\frac{U(z|x,h)}{h} = \psi(z) \cdot x_1^{z-1} + O\left(x_1^{z-2}\right),$$

consequently,

(1.9)
$$\frac{1}{h} \prod_{l} ([x, x+h]) = \frac{6}{\pi^2} \left(1 + O\left(\frac{1}{x_2}\right) \right) \rho_l(x),$$

uniformly as $1 \le l \le cx_2$, c is an arbitrary positive constant.

2. The main auxiliary theorem

Every $n \in \mathbb{N}$ can be written uniquely as n = Km, where (K, m) = 1, K is square full, and m is square free. Let us write d(K) as $2^{\alpha}k_1$, k_1 odd. Then $d(n) = d(Km) = k_1 \cdot 2^{\alpha + \omega(m)}$, and so

(2.1)
$$d_2(n) = d(k_1)(\alpha + 1 + \omega(m)).$$

For some fixed square full K, let

(2.2)
$$\mathcal{E}_K = \{ n \mid n = Km, \ (m, K) = 1, \ |\mu(m)| = 1 \}.$$

For the integer $S = q_1^{u_1} \dots q_r^{u_r}$, $q_1, \dots, q_r \in \mathcal{P}$, $u_1, \dots, u_r \geq 1$, let \mathcal{B}_S be the set of those integers m all the prime factors of which belong to the set $\{q_1, \dots, q_r\}$, i.e.

(2.3)
$$\mathcal{B}_S = \{ m \mid m = q_1^{v_1} \dots q_r^{v_r}, \ v_1, \dots, v_r \in \mathbb{N}_0 \}.$$

We define

(2.4)
$$H_K(s,z) := \sum_{(m,K)=1} \frac{|\mu(m)|z^{\omega(m)}}{m^s} = \prod_{(n,K)=1} \left(1 + \frac{z}{p^s}\right),$$

(2.5)
$$T_K(s,z) := \prod_{p|K} \left(1 + \frac{z}{p^s}\right)^{-1} = \sum_{v \in \mathcal{B}_K} \frac{\lambda(v)z^{\Omega(v)}}{v^s}.$$

From now on we assume that $|z| \leq 2 - \delta$, $\delta > 0$ a constant. It is clear

that

(2.6)
$$H_K(s,z) = T_K(s,z) \cdot H_1(s,z).$$

Let $H \geq 1$, and

(2.7)
$$V_K(z|x,H) := \sum_{\substack{x \le m \le x+H \\ (m,K)=1}} |\mu(m)| \cdot z^{\omega(m)}.$$

Then, by (2.6) we obtain immediately that

(2.8)
$$V_K(z|x,H) = \sum_{v \in \mathcal{B}_K} \lambda(v) z^{\Omega(v)} U\left(z \mid \frac{x}{v}, \frac{H}{v}\right),$$

U is defined by (1.5).

Let

(2.9)
$$\prod_{l} ([x, x+H] \mid K) = \sum_{\substack{\omega(m)=l \\ (m,K)=1 \\ x \le m \le x+H}} |\mu(m)|.$$

By using (2.8)

(2.10)
$$\prod_{l} ([x, x + H] \mid K) = \sum_{v \in \mathcal{B}_K} \lambda(v) \prod_{l = \Omega(v)} \left(\left[\frac{x}{v}, \frac{x + H}{v} \right] \right)$$

$$(l=1,2,\dots).$$

Assume that $\delta>0,\ \varepsilon>0$ be fixed, $H=x^{\frac{7}{12}+2\varepsilon}$. Let $K\leq \leq x_1^4,\ \frac{x_2}{2}\leq l\leq (\sqrt{2}-\delta)x_2$.

We define Y by $\log Y = x_2^{3/4}$, say. Let $v \leq Y$. Then,

$$\rho_{l-\Omega(v)}\left(\frac{x}{v}\right) = \rho_{l-\Omega(v)}(x)\left(1 + O\left(\frac{\log v}{x_1}\right)\right) =$$

$$(2.11) \qquad = \rho_l(x)\frac{(l-1)\dots(l-\Omega(v))}{x_2^{\Omega(v)}}\left(1 + O\left(\frac{\log v}{x_1}\right)\right) =$$

$$= \rho_l(x)\cdot\left(\frac{l}{x_2}\right)^{\Omega(v)}\exp\left(-\frac{\Omega^2(v)}{2l}\right)\cdot\left(1 + O\left(\frac{\Omega^3(v)}{l^2} + \frac{\Omega(v)}{l}\right)\right).$$

Let us apply (2.10) and (1.9). For $v \geq Y$ we shall use the obvious inequality

(2.12)
$$\prod_{l=\Omega(v)} \left(\left\lceil \frac{x}{v}, \frac{x+H}{v} \right\rceil \right) \ll \frac{H}{v}.$$

We obtain that

(2.13)
$$\prod_{l} ([x, x + H] \mid K) =$$

$$= \frac{6}{\pi^2} H \rho_l(x) \sum_{\substack{v \in \mathcal{B}_K \\ v < Y}} \frac{\lambda(v)}{v} \cdot \left(\frac{l}{x_2}\right)^{\Omega(v)} \exp\left(-\frac{\Omega^2(v)}{2l}\right) +$$

$$+ O(R_1) + O(R_2) + O(R_3).$$

Here R_1 is the contribution of the error terms in (2.11), R_2 is that of (1.9) and R_3 is $H \sum_{v \geq Y} 1/v \cdot \left(\frac{l}{x_2}\right)^{\Omega(v)}$.

We have

$$R_1 \ll H\rho_l(x) \sum_{\substack{v < Y \ v \in \mathcal{B}_K}} \left(\frac{l}{x_2}\right)^{\Omega(v)} \left(\frac{\Omega^3(v)}{l^2} + \frac{\Omega(v)}{l}\right) \exp\left(-\frac{\Omega^2(v)}{2l}\right).$$

Since $\max_{y \ge 1} \left(\frac{y^3}{l^2} + \frac{y}{l} \right) \exp\left(-\frac{y^2}{2l} \right) \ll \frac{1}{\sqrt{l}}$, and $\Omega(v) \ll \log v$, we obtain that

$$(2.14) R_{1} \ll \frac{H\rho_{l}(x)}{x_{2}} \sum_{\substack{v < e^{\sqrt{x_{2}}} \\ v \in \mathcal{B}_{K}}} \left(\frac{l}{x_{2}}\right)^{\Omega(v)} \cdot \frac{\Omega(v)}{v} + \frac{H}{\sqrt{x_{2}}} \rho_{l}(x) \sum_{\substack{e^{\sqrt{x_{2}}} < v < Y \\ v \in \mathcal{B}_{K}}} \left(\frac{l}{x_{2}}\right)^{\Omega(v)} \cdot \frac{1}{v} = R_{1}^{(1)} + R_{2}^{(2)}.$$

Let
$$\frac{l}{x_2} = a$$
, shortly.

To estimate $R_1^{(1)}$, observe that

$$\sum_{\substack{v \in \mathcal{B}_K \\ v < e^{\sqrt{x_2}}}} \frac{a^{\Omega(v)} \cdot \Omega(v)}{v} \leq \sum_{p|K} \sum_{\alpha=1}^{\infty} \frac{a^{\alpha}}{p^{\alpha}} \sum_{v_1 \in \mathcal{B}_K} \frac{a^{\Omega(v_1)}}{v_1} \ll$$

$$\ll \prod_{p \in K} \left(1 + \frac{a}{p} + \left(\frac{a}{p} \right)^2 + \dots \right) \sum_{p|K} 1/p.$$

Thus, in the notation

(2.15)
$$\kappa(K) := \sum_{p \mid K} 1/p$$

we have

(2.16)
$$R_1^{(1)} \ll \frac{H\rho_l(x)}{x_2} \kappa(K) e^{a\kappa(K)}.$$

Furthermore

$$\sum_{\substack{e^{\sqrt{x_2}} < v < Y \\ v \in \mathcal{B}_K}} a^{\Omega(v)} \cdot \frac{1}{v} \ll e^{-\frac{1}{2}\sqrt{x_2}} \sum_{v \in \mathcal{B}_K} \frac{a^{\Omega(v)}}{\sqrt{v}} \ll$$

$$\ll e^{-\frac{1}{2}\sqrt{x_2}} \prod_{p|K} \left(1 + \frac{a}{\sqrt{p}} + \left(\frac{a}{\sqrt{p}} \right)^2 + \dots \right) \ll e^{-\frac{1}{2}\sqrt{x_2}} \frac{\sqrt{\log K}}{\log \log K} \ll e^{-\frac{1}{3}\sqrt{x_2}}.$$

Here we used that

$$\frac{a}{\sqrt{p}} \le 1 - \frac{\delta}{\sqrt{2}}, \quad \sum_{p \mid K} \frac{1}{\sqrt{p}} \ll \frac{\sqrt{\log K}}{\log \log K}.$$

Thus

$$R_1^{(2)} \ll H\rho_l(x)e^{-1/3\sqrt{x_2}}\frac{\sqrt{x_2}}{x_3},$$

and so we have

(2.17)
$$R_1 \ll \frac{H\rho_l(x)}{x_2} \kappa(K) e^{a\kappa(K)}.$$

From (1.9),

$$R_2 \ll \frac{H}{x_2} \rho_l(x) \prod_{p \mid K} \left(1 + \frac{a}{p} + \left(\frac{a}{p} \right)^2 + \dots \right), \text{ i.e. } R_2 \ll \frac{H}{x_2} \rho_l(x) e^{a\kappa(K)}.$$

Since

(2.18)
$$\sum_{p \mid K} 1/p \le \log \log K \cdot 10 + c_1,$$

we obtain that

(2.19)
$$R_2 \ll \frac{H}{x_2} \rho_l(x) (\log \log 10K)^{\sqrt{2}}.$$

Since

$$\left| \sum_{\substack{v \ge Y \\ v \in \mathcal{B}_K}} \frac{a^{\Omega(v)}}{v} \right| \le Y^{-1/2} \sum_{v \in \mathcal{B}_K} \frac{a^{\Omega(v)}}{v^{1/2}} \ll$$

$$\ll Y^{-1/2} \prod_{p \mid K} \left(1 + \frac{a}{\sqrt{p}} + \left(\frac{a}{\sqrt{p}} \right)^2 + \dots \right) \ll$$

$$\ll Y^{-1/2} \exp\left(\frac{\sqrt{\log K}}{\log \log K} \right) \ll Y^{-1/3},$$

and similarly

$$\sum_{\substack{v \ge Y \\ v \in \mathcal{B}_K}} \frac{1}{v} \ll Y^{-1/3},$$

we obtain thus

$$(2.20) R_3 \ll HY^{-1/3}.$$

Consequently the following theorem holds.

Theorem 1. Let $\varepsilon, \delta > 0$ be fixed, $1 \le K \le x_1^4$, $H = x^{\frac{7}{12} + 2\varepsilon}$, $\frac{x_2}{2} \le l \le (\sqrt{2} - \delta)x_2$, $\log Y = x_2^{3/4}$. Let $a = \frac{l}{x_2}$. Then

(2.21)
$$\prod_{l} ([x, x + H] \mid K) = \frac{6H}{\pi^2} \rho_l(x) \sum_{\substack{v \in \mathcal{B}_K \\ v < Y}} \frac{\lambda(v)}{v} a^{\Omega(v)} \exp\left(-\frac{\Omega^2(v)}{2l}\right) + O\left(\frac{H}{x_2} \rho_l(x) (\log \log K)^{\sqrt{2}}\right) + O\left(HY^{-1/3}\right).$$

Furthermore,

(2.22)
$$\left| \sum_{\substack{v \in \mathcal{B}_K \\ v < Y}} \frac{\lambda(v)}{v} a^{\Omega(v)} \exp\left(-\frac{\Omega^2(v)}{2l}\right) - \prod_{p \mid K} \frac{1}{1 + \frac{a}{p}} \right| \ll \frac{1}{l} \left(1 + \kappa^2(K)e^{a\kappa(K)}\right),$$

where $\kappa(K)$ is defined by (2.15).

It remains to prove only (2.22). The left-hand side is less than

$$\ll \frac{1}{2l} \sum_{\substack{v \in \mathcal{B}_K \\ v < Y}} \frac{1}{v} a^{\Omega(v)} \Omega^2(v) + \sum_{\substack{v \in \mathcal{B}_K \\ v > Y}} \frac{1}{v} a^{\Omega(v)}.$$

The second sum is $\ll H \cdot Y^{-1/3} \le \frac{H}{l}$, as we proved earlier. Let

$$E_K(a) := \sum_{v \in \mathcal{B}_K} \frac{a^{\Omega(v)}}{v} \Omega^2(v).$$

Since

$$\Omega^{2}(v) = \sum_{\substack{p^{\alpha} || v}} \alpha^{2} + \sum_{\substack{p \neq q \\ p^{\alpha} || v \\ q^{\beta} || v}} \alpha \cdot \beta,$$

therefore

$$E_K(a) \le \left\{ \sum_{p|K} \left(\sum_{\alpha=1}^{\infty} \frac{\alpha^2}{p^{\alpha}} a^{\alpha} \right) \right\} \prod_{p|K} \left(1 + \frac{a}{p} + \left(\frac{a}{p} \right)^2 + \dots \right) + \left\{ \sum_{p|K} \sum_{q|K} \sum_{\alpha=1}^{\infty} \sum_{\beta=1}^{\infty} \frac{\alpha \cdot a^{\alpha}}{p^{\alpha}} \cdot \frac{\beta a^{\beta}}{q^{\beta}} \right\} \prod_{p|K} \left(1 + \frac{a}{p} + \left(\frac{a}{p} \right)^2 + \dots \right),$$

and so

$$E_K(a) \ll e^{a \cdot \kappa(K)} \kappa^2(K).$$

Thus (2.22) is true.

3. Formulation and the proof of the main theorem

Let $s \in \mathbb{N}$. We would like to estimate (3.1) $Q(s \mid [x, x + H_0]) = \#\{n \in [x, x + H_0] \mid d_2(n) = s\},$ where $H_0 = x^{7/12 + \varepsilon_1}, \ \varepsilon_1 > 0.$

For some $s \in \mathbb{N}$ let $\mathcal{T}_s = \{1 = l_0 < l_1 < \ldots < l_{r(s)}\}$ be the set of divisors of s. For every l_j let \mathcal{B}_{l_j} be the set of those square-full integers K for which $d(k_1) = l_j$, and $K \leq x_x^4$ holds. We shall use the notation (2.1).

It is clear that

$$Q(s \mid [x, x + H_0]) =$$

$$(3.2) \qquad = \sum_{l_j \in \mathcal{T}_s} \sum_{K \in \mathcal{B}_{l_i}} \prod_{\frac{s}{l_j} - \alpha - 1} \left(\left[\frac{x}{K}, \frac{x + H_0}{K} \right] \mid K \right) + O\left(\frac{H_0}{x_1^2} \right),$$

where the error term comes from the contribution of square full numbers $K > x_1^4$.

It is known that

(3.3)
$$\sum_{x \le n \le x+y} r^{\omega(n)} \ll y \cdot x_1^{r-1}$$

if $y \ge x^{7/12 + \varepsilon_2}, \varepsilon > 0$.

The inequality (3.3) can be proved by sieve methods (see [2]).

(3.3) follows from our Th. A, as well.

From (3.3) we obtain that

$$\# \{ n \in [x, x + H] \mid \omega(n) \ge \alpha x_2 \} \ll$$

$$\ll \frac{1}{r^{\alpha x_2}} \sum_{n \le n \le x + H} r^{\omega(n)} \ll \frac{H}{x_1} \exp((r - \alpha \log r) x_2).$$

By choosing r = 5, $\alpha = 5$, we obtain that

(3.4)
$$\# \{ n \in [x, x + H] \mid \omega(n) \ge 5x_2 \} \ll \frac{H}{x_1^2}.$$

Thus (3.2) remains valid if we drop all those l_i for which

$$\frac{s}{l_j} - \alpha - 1 \ge 5x_2.$$

Let $t = \frac{s}{l_i} - \alpha - 1$, $K \in \mathcal{B}_{l_i}$. From Th. A we obtain that

$$\prod_{t} \left(\left[\frac{x}{K}, \frac{x + H_0}{K} \right] \mid K \right) \leq \prod_{t} \left(\left[\frac{x}{K}, \frac{x + H_0}{K} \right] \right) \ll r \frac{H}{K} \rho_t(x),$$

which is valid for $t < cx_2$.

Since

$$\rho_t(x) \ll \frac{1}{\sqrt{x_2}} \exp\left(-\frac{\sqrt{x_2}}{2}\right) \quad \text{if} \quad |t - x_2| \ge x_2^{3/4},$$

we obtain that

$$Q(s \mid [x, x + H_0]) =$$

$$= \sum_{l_j \in \mathcal{T}_s} \sum_{K \in \mathcal{B}_{l_j}}^* \prod_{\frac{s}{l_j} - \alpha - 1} \left(\left[\frac{x}{K}, \frac{x + H_0}{K} \right] \mid K \right) +$$

$$+ O\left(H \exp\left(-\frac{x_2^{1/2}}{2} \right) \right),$$

where * means that we sum over those K only for which

$$\left|\frac{s}{l_i} - \alpha - 1 - x_2\right| \le x_2^{3/4}$$

holds.

If no such K exists, then on the right-hand side of (3.5) we have an empty sum.

From Th. 1 we can deduce the following **Lemma 1.** Assume that the conditions of Th. 1 are satisfied, and let $l = x_2 + \Delta$, where $|\Delta| \ll x_2^{3/4}$. Then

(3.7)
$$\left| \prod_{l} ([x, x + H] \mid K) - \frac{6}{\pi^2} H \rho_l(x) \eta(K) \right| \ll$$

$$\ll H \rho_l(x) \left\{ \frac{|\Delta|}{x_2} (1 + \kappa(K)) + \frac{1}{x_2} \left(1 + \kappa^2(K) \exp\left(\left(1 + \frac{|\Delta|}{x_2} \right) \kappa(K) \right) \right) \right\} +$$

$$+ \frac{H \rho_l(x)}{x_2} (\log \log K)^{\sqrt{2}} + O\left(H \cdot Y^{-1/3} \right).$$

If $K \leq x_1^c$, then the right-hand side of (3.7) is less than

(3.8)
$$H\rho_l(x) \left\{ \frac{|\Delta|}{x_2} (1+x_4) + \frac{1}{x_2} \left(1 + x_4^2 x_3 + x_5^{\sqrt{2}} \right) \right\} + O\left(H \cdot Y^{-1/3} \right).$$

Proof. (3.7) is a straightforward consequence of Th. 1. We observe that

$$\prod_{p|K} \frac{1}{1 + \frac{a}{p}} = \eta(K) \prod_{1}, \quad \prod_{1} = \prod_{p|K} \frac{1}{1 + \frac{\Delta}{x_{2}} \cdot \frac{1}{(p+1)}},$$

and so

$$\begin{split} \log \prod_1 &= \frac{\Delta}{x_2} \left(\kappa(K) + O(1) \right) + O\left(\left(\frac{\Delta}{x_2} \right)^2 \right), \\ \prod_1 -1 &= \frac{\Delta}{x_2} \left(\kappa(K) + O(1) \right) + O\left(\left(\frac{\Delta}{x_2} \right)^2 \right). \end{split}$$

Thus the left-hand side of (3.7) is less than

$$H\rho_{l}(x)\eta(K)\left(\frac{|\Delta|}{x_{2}}\left(\kappa(K)+O(1)\right)\right)+$$

$$+\frac{H\rho_{l}(x)}{l}\left(1+\kappa^{2}(K)\exp\left(\left(1+\frac{|\Delta|}{x_{2}}\right)\kappa(K)\right)\right)+$$

$$+O\left(H\cdot Y^{-1/3}\right)+O\left(\frac{H}{x_{2}}\rho_{l}(x)(\log\log K)^{\sqrt{2}}\right).$$

(3.8) directly follows from (3.7).

Thus Lemma 1 is true.

Lemma 2. Let f be additive, for prime power p^{α} is defined by

$$f(p^{\alpha}) = \begin{cases} 0 & \text{if } \alpha \ge 2, \\ 0 & \text{if } p^{\alpha} = 2, \\ 1 & \text{if } \alpha = 1, \ p > 2. \end{cases}$$

Then

$$\max_{x^{7/12+\varepsilon} \le y \le x} \frac{1}{y} \# \{ n \in [x, x+y] \mid |f(n) - x_2| \ge x_2^{3/4} \} \le c_1 \exp(-c_2 \sqrt{x_2}),$$

where ε is an arbitrary positive constant, c_1 and c_2 are suitable constants.

Proof. By using the method of Erdős [2] we obtain that

$$\#\left\{n \in [x, x+y] \mid f(n) > x_2 + x_2^{3/4}\right\} \le$$

$$\le z^{-x_2 - x_2^{3/4}} \sum_{n \in [x, x+y]} z^{f(n)} \ll z^{-x_2 - x_2^{3/4}} \cdot x_1^{z-1}.$$

Choosing $z = 1 + \frac{c^*}{x_2^{1/4}}$ with a small positive constant c^* , we obtain that

$$\#\left\{n \in [x, x+y] \mid f(n) => x_2 + x_2^{3/4}\right\} \ll y \exp\left(-\frac{c^*}{2}\sqrt{x_2}\right).$$

Similarly, by sieve one can prove that

$$\#\left\{n \in [x, x+y] \mid f(n) = k\right\} \le c_1 y \frac{(x_2 + c_2)^{k-1}}{x_1 \cdot (k-1)!},$$

whence, by summing the right-hand side for $k \leq x_2 - x_2^{3/4}$, Lemma 2 immediately follows.

Let δ_1 be a fixed positive number, $s \leq x_2^{1+\delta_1}$, $\delta_1 < 1/4$.

Let n = Km, $d(K) = 2^{\alpha} \cdot k_1$,

$$d(k_1)(\alpha+1+m)=s.$$

Assume that $|m - x_2| \le x_2^{3/4}$, $\alpha < x_2^{3/4}$. Then

$$d(k_1) = \frac{s}{x_2 + O\left(x_2^{3/4}\right)} = \frac{s}{x_2} + O\left(\frac{s}{x_2^{5/4}}\right).$$

Since $\frac{s}{x_2^{5/4}} = o_x(1)$ $(x \to \infty)$, therefore for some $s \le x_2^{1+\delta_1}$ if

 $|m - x_2| \le x_2^{3/4}$, $\alpha < x_2^{3/4}$, then

$$d(k_1) = T,$$

where

$$|s - Tx_2| \le \frac{1}{2}x_2.$$

The contribution of those n for which $\alpha \geq \left[x_2^{3/4}\right] = \beta$ is less than

$$H_0 \sum_{d(K)>2^{\beta}} \frac{1}{K} \ll H_0 \exp\left(-cx_2^{3/4}\right).$$

The contribution of those n for which $|m-x_2| \geq x_2^{3/4}$ is less than $H_0 \exp\left(-\frac{1}{2}\sqrt{x_2}\right)$.

$$H_0 \exp\left(-\frac{1}{2}\sqrt{x_2}\right)$$
.
If $x_2^{3/4} \le |s - Tx_2| \le \frac{1}{2}x_2$, then

(3.9)
$$Q(s \mid [x, x + H_0]) \ll H_0 \exp\left(-\frac{1}{2}\sqrt{x_2}\right).$$

We estimate now

(3.10)
$$\sum := \sum_{s \ge x_2^{1+\delta_1}} Q(s \mid [x, x + H_0]).$$

If n is counted in (3.10), then either $\omega(m) \geq 2x_2$, or $\alpha \geq x_2$, or $d(k_1) \geq x_2^{\delta_1}$. We have

$$\sum_{\substack{\omega(m) \ge 2x_2 \\ m \in [x, x + H_0]}} \ll 2^{-2x_2} \sum_{x \le m \le x + H_0} 2^{\omega(m)} \ll H_0 \exp\left((1 - 2\log 2)x_2\right) \ll \frac{H_0}{x_1^c}$$

with a suitable constant c > 0. If $\alpha \ge x_2$, then $2^{\alpha}|d(K)$, $K \gg x_1^{1/\epsilon}$, and so

$$\sum_{\substack{x \leq n \leq x + H_0 \\ K > x_1^{1/\varepsilon}}} 1 \ll \frac{H_0}{x_1^{10}}, \quad \text{say}.$$

If $d(k_1) \ge x_2^{\delta_1}$, then $K > x_2^{1/\varepsilon}$, and so $\sum_{K > x_2^{1/\varepsilon}} \frac{H_0}{K} \ll x_2^{-1/2\varepsilon}$, consequently

where B is an arbitrary large constant. Let

(3.12)
$$|s - Tx_2| \le x_2^{3/4}$$
, T integer, $s \le x_2^{1+\delta_1}$.

By using Lemma 1, we obtain that

(3.13)
$$Q(s \mid [x, x + H_0]) =$$

$$= \frac{6}{\pi^2} H_0 \sum_{K \in \mathbb{R}}^{**} \frac{\rho_{T-\alpha-1}(x)\eta(K)}{K} + O\left(\frac{x_4}{x_5^{1/4}} H_0 \sum_{K \in \mathbb{R}}^{**} \frac{\rho_{T-\alpha-1}(x)\eta(K)}{K}\right) +$$

$$+O\left(H_0Y^{-1/3}\right) + O\left(H_0\exp\left(-\frac{1}{2}\sqrt{x_2}\right) + O\left(\frac{H_0}{x_2^B}\right)\right),$$

where ** means that we sum only over those K for which $\alpha \leq x_2^{3/4}$. The last three order term can be simplified by $O(H_0 \cdot x_2^{-B})$.

We proved

Theorem 2. The following relations hold.

a) Let $\delta_1 > 0$ be a small positive constant. Then

$$\sum_{s>x_2^{1+\delta_1}} Q\left(s \mid [x, x + H_0]\right) \ll \frac{H_0}{x_2^B},$$

where B is an arbitrary positive constant.

b) Assume that $s \leq x_2^{1+\delta_1}$, $0 < \delta_1 < 1/4$, and T is an integer for which $x_2^{3/4} \leq |s - Tx_2| < \frac{1}{2}x_2$. Then (3.9) holds.

c) Assume that $s \le x_2^{1+\delta_1}$, $0 < \delta_1 < 1/4$, T is the integer for which $|s-Tx_2| < x_2^{3/4}$. Then

$$Q(s \mid [x, x + H_0]) = \left(1 + O\left(\frac{x_4}{x_2^{1/4}}\right)\right) H_0 \sum_{K \in \mathcal{B}_T}^{**} \frac{\rho_{T-\alpha-1}(x)\eta(K)}{K} + O\left(H_0 x_2^{-B}\right).$$

References

- [1] ERDŐS, P.: On the sum $\sum d(d(n))$, Math. Student 36 (1968), 227–229.
- [2] ERDŐS, P.: On the sum $\sum df(n)$, J. London Math. Soc. 27 (1952), 7–15.
- [3] ERDŐS, P. and KÁTAI, I.: On the sum $\sum d_4(n)$, Acta Sci. Math. (Szeged) 30 (1969), 313–324.
- [4] HEPPNER, E.: Über die Iterationen von Teilerfunktionen, Journal für Mathematik 265 (1973), 176–182.
- [5] KÁTAI, I.: On the distribution of d(d(n)), MTA III. Osztály közleményei 17 (1967), 447–454 (in Hungarian).
- [6] KÁTAI, I.: On the iteration of the divisor function, *Publ. Math. Debrecen* **16** (1969), 3–15.
- [7] KÁTAI, I.: On the sum $\sum d(d(n))$, Acta Sci. Math. (Szeged) **29** (1968), 199–206.
- [8] KÁTAI, I.: A remark on a paper of Ramachandra, in: Number Theory, Proc. Ootacamund, K. Alladi (Ed.), Lecture Notes in Math. 1122, Springer, 1984, pp. 147–152.
- [9] KÁTAI, I. and SUBBARAO, M. V.: Some remarks on a paper of Ramachandra, Liet. matem. rink. 43/4 (2003), 497–506.
- [10] RAMACHANDRA, K.: Some problems of analytic number theory, *Acta Arithm.* 31 (1976), 313–324.
- [11] RIEGER, G. J.: Über einige arithmetische Summen, Manuscripta Math. 7 (1972), 23–34.